
E 3537-0215

EPA

20

22

12 13

14

5

4

7
8

9

11

2

3

1

6

10

20

20

17

18

19

21

15

16
  



E 3537-0215 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. dęOrdine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. dęOrdine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11000455          

2 4 25044006  DIN912-M8x25        

3 4 20029011  VSKZ 8        

4 1 20008067          

5 1 11000456          

6 1 20013282          

7 1 11000457          

8 1 20013284          

9 1 25035027  DIN472-J58x2,0        

10 1 20020119          

11 1 21000520          

12 1 25030003  DIN908-M24x1,5        

13 1 25008008  DIN7603-24x32x2        

14 1 21000256          

15 1 25030002  DIN908-M14x1,5        

16 1 21000829          

17 1 25044076  DIN912-M5x16        

18 1 25044080  DIN912-M5x25       

19 1 25044056  DIN912-M5x30       

20 3 21000952  SKM 5       

21 1 20022005  Tensilock M5       

22 1 25009021           

               

               

               

               

               

               

               

                

02.15        


